BAL BHARATI PUBLIC SCHOOL, PITAMPURA, DELHI - 110034
MENTAL AGILITY
TOPIC = MISSING CHARACTER
LEVEL -1
SERIAL NO. 2

1. Insert the missing number in each of the following.

A. 185
B. 126
C. 239
D. 145

2. Insert the missing number in each of the following.

25200 5
3600 5

? 10

A. 350
B. 320
C. 500
D. 600

3. Insert the missing number in each of the following.

AT
N

A. 64
B. 18
C. 24



4. Insert the missing number in each of the following

?

72 6
56 12
42 20
30
A. 90
B. 76
C. 84
D. 88
5. Insert the missing number in each of the following
72 24 6
96 16 12
108 ? 18
A. 12
B. 16
C. 18
D. 20
6. Insert the missing number in each of the following
1 3 7
5 12 14
25 ? 28
125 192 56
A) 64

B) 56



C) 48
D) 40

7. Insert the missing number in each of the following

46 64
? 56
A. 36
B. 63
C. 56
D. 65
8. Insert the missing number in each of the following

33

36
.37
.44

o0 wp»

9.

Insert the missing number in each of the following.

10. Insert the missing number in each of the following.






BAL BHARATI PUBLIC SCHOOL, PITAMPURA
CRITICAL THINKING

LEVEL — 1(ANSWER KEY)

ANS:1
Positive Integers Megative Integers
+2,+5,+8,+11,13,28 -3,-7,4,-11
U goesin the circle in between, since it is neither a positive nor a negative integer,

ANS:2 93 YEARS

Ans3 (i) Honesty / truthfulness
(i) From the food we intake
(iif) Consuming a balanced diet
(iv) For providing us nutrients that provide energy, help in growth
and all metabolic activities
(v) we will not be able to survive
(vi) Glucose

Ans 4 (i) Iron
(i) Rusting
(i) Iron in the bicycle reacted with the oxygen in the atmosphere to
form rust which is reddish brown in colour
(iv) It will slowly react with oxygen in the presence of moisture and
undergo rusting
(v) Iron oxide

ANS: 5

2 - AT

3 - FISTAEN T el
4 -30d

5 - 3TERT

6 - DI ST






According to Ishita, 490 + x =2 (22 + x)
490 +x=44+2x

490-44 =2x—-x
x =446 km is the total distance travelled.




BAL BHARATI PuBLIC SCHOOL, PITAMPURA, DELHI — 110034
Class — 6
Critical Thinking Worksheet
Serial No. 1
Solutions

Ans-1.

Ans 2

(a)y 1" March isaSaturdav
(b) 317 January s a Friday
(c) Independence Day, 15" August isa Friday,

(d) 2" October, Gandhi Jayvantiisa IThursday.
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Ans. 3 c) Seeds should not have been boiled.

Ans. 4 a) A — Evaporation, B — Condensation



Ans. 5

1.9 9D AT
2 .4t & feu srarn
3. 99 P AT i I
4 . 3sd! fIfsar ugam=-T



